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QUESTION 1

Which statement about persistent MAC learning is correct?

A. Trunk ports require MAC addresses to be configured on each VLAN.

B. Port moves require manual operator intervention.

C. Access ports must be configured with the no-mac-learning command.

D. 802.1X must be configured on the port for persistent MAC learning to work.

Correct Answer: B

QUESTION 2

Click the Exhibit button.

user@routerl® run shov route 10 30 30.221 extensive hidden

inet . 0: 103 destinations. 156 routes (103 active, 0 holddown. 4 hidden)
Restart Complete
10.30. 30, 221-32 (3 entries., 1 announced)

BGF ~-101
Hext hop type: Indirect, Hext hop index: 0
Address: 0rcBd9%ad0
Hext-hop reference count: B8
Source: 10.12.0.23
Hext hop type: Router, Next hop index: 578
Next hop: 10.252 .11 0 wia ael. 11, selected
Session Id: 0Ox0
Protocol next hop: 10.12.0. 23
Indirect next hop: 0Oxc9181s0 262144 INH Session ID: 0=0
State: <¢Hidden Ext>
Inactive reason: Unusable path
Local &S: 64660 Pesr AS: 4200000006
Age: 46 Metric2: 0
Validation State: unverified
Task: BGP_4200000006.10.12.0.23
AS path: 4200000006 4200000108 4200000103 4200000100 4200000101 4200000104 I
Communities: 0.2 target: 3003011:1 encapsulation vxlan(0x8) router-mac 44 . aa:50 b2 .d6:el
localpref: 100
Router ID: 10.12.0.23
Hidden reason: rejected by import policy
Indirect next hops: 1
Protocol ne=xt hop: 10.12.0.23
Indirect next hop: 0xc918le0 262144 INH Session ID: Ox0
Indirect path forwvarding next hops: 1
NHext hop type: Router
Next hop: 10.252.11.0 via ael 11
Session Id: OxD
10.12.0.23-32 Originating RIB: inet. 0
Hode path count: 1
Forvarding nexthops: 1
Hexthop: 10.252.11.0 via ael .11
Se==zion Id: 0

Why is the route shown in the exhibit hidden?
A. The router cannot reach the protocol next hop.

B. An MPLS LSP is unavailable.

Latest INO-349 Dumps | JNO-349 Exam Questions | JINO-349 Braindumps 214


https://www.geekcert.com/jn0-349.html
https://www.geekcert.com/jn0-349.html
https://www.geekcert.com/jn0-349.html

VCE & PDF https://lwww.geekcert.com/jn0-349.html
2024 Latest geekcert JNO-349 PDF and VCE dumps Download

GeekCert.com

C. The router is being rejected through an import policy.
D. The route is being rejected through an export policy.

Correct Answer: C

QUESTION 3

What are three types of port designation specific to Private VLANs? (Choose three.)
A. Promiscuous ports

B. Transparent ports

C. PVLAN trunk ports

D. Designated ports

E. Isolated ports

Correct Answer: ACE

QUESTION 4

Which two statements about DIS elections in IS-IS are correct? (Choose two.)

A. If a priority tie occurs, the router with the higher subnetwork point of attachment (SNPA) value becomes the DIS.
B. The router with the higher priority value becomes the DIS.

C. The router with the lower priority value becomes the DIS.

D. If a priority tie occurs, the router with the lower subnetwork point of attachment (SNPA) value becomes the DIS.

Correct Answer: AB

QUESTION 5

You do not want any spanning tree protocols operating in your environment, and you want to ensure that no BPDUs can
be introduced into the environment.

Which statement is true in this scenario?

A. You must run a spanning tree protocol to block BPDUs.

B. Incoming BPDUSs are blocked by default if a spanning tree protocol is not operating.
C. You can block BPDUs without running a spanning tree protocol using Layer 3 control.

D. Incoming BPDUs can only be blocked by the root bridge.
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Correct Answer: C
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